BT TRIA O - HEHHEE X T 3;5217&07)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,050 87,069 41582 45487
RIRET1T 5 14 7 7
RIRET2T 24 53 25 28
AIEET3T 158 514 251 263
RIRET4T 388 983 482 501
B 575 1,564 765 799
REH 2,636 6,227 2,918 3,309
L&A 4,197 9,594 4,545 5,049
5E 2,508 6,009 2,913 3,096
B AN 1,236 2,831 1,325 1,506
BERT 1,155 1,827 865 962
BER2T 673 1,332 641 691
BHERST 396 908 449 459
g 2,224 4,067 1,955 2,112
BARE 252 646 323 323
= 2,201 5,293 2,490 2,803
hERE 617 1,454 665 789
e 2,368 5,236 2,523 2,713
25 L ET 2,248 5,233 2,502 2,731
B &AL BT 76 159 66 93
HEFILET1T 577 1,260 591 669
HEFILET2T 606 1,370 650 720
HEZFILAT3T 589 1,395 687 708
g 1,848 4,184 1,994 2,190
B & it B Fr ET 684 1,678 817 861
BHEREBET1T 604 1,244 595 649
BHERERET2T 755 1,774 869 905
BHERERETST 761 1,642 744 898
HEFMHET4T 456 1,005 486 519
HEHFMHETST 802 1,657 800 857
HEHFHET6T 873 2,029 975 1,054
HEFRET7T 839 1,936 931 1,005
HERERETST 70 210 101 109
£t| 5160 11497 5,501 5,996
HEF R FET 1,813 3,958 1,921 2,037
S|EFET1T 558 1,512 755 757
S|EFET2T 758 1,829 872 957
S|EFET3 T 705 1,426 671 755
g 2,021 4,767 2,298 2,469
ERE1T 555 1,346 649 697
EIRET2T 383 997 490 507
EREIST 467 1,322 638 684
EIRETAT 688 1,563 718 845
EIZEIST 465 971 488 483
g 2,558 6,199 2,983 3,216
MEH 2,796 6,413 3,042 3,371
J\THET1T 25 28 9 19
J\THET2T 26 64 33 31
J\THEI3T 57 127 60 67
B 108 219 102 117
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